# Oscillation of differential equation of neutral type 

Dedicated to Professor Takaŝi Kusano on his sixtieth birthday

Rudolf Оlá

(Received February 8, 1993)

## 1. Introduction

Consider the neutral differential equation

$$
\begin{equation*}
\frac{d}{d t}[x(t)-p(t) x(\sigma(t))]+q(t) x(\tau(t))=0, \quad t \geq t_{0} \tag{1}
\end{equation*}
$$

under the standing hypotheses that:
(a) $p \in C\left[\left[t_{0}, \infty\right),(0, \infty)\right]$;
(b) $\sigma \in C\left[\left[t_{0}, \infty\right), R\right], \sigma$ is strictly increasing and $\lim _{t \rightarrow \infty} \sigma(t)=\infty$;
(c) $q \in C\left[\left[t_{0}, \infty\right), R\right], q(t) \not \equiv 0$;
(d) $\tau \in C\left[\left[t_{0}, \infty\right), R\right], \lim _{t \rightarrow \infty} \tau(t)=\infty$.

Our aim in this paper is to obtain sufficient conditions for the oscillation of all solutions of equation (1). The asymptotic behaviour of the solutions of equation (1) is also studied.

By a solution of equation (1) we mean a continuous function $x:\left[T_{x}, \infty\right) \rightarrow$ $R$ such that $x(t)-p(t) x(\sigma(t))$ is continuously differentiable and $x(t)$ satisties equation (1) for all sufficiently large $t>T_{x}$. The solutions which vanish for all large $t$ will be excluded from our consideration. A solution of (1) is said to be oscillatory if it has an infinite sequence of zeros tending to infinity; otherwise a solution is said to be nonoscillatory.

The problem of oscillation and nonoscillation for neutral differential equations has received considerable attention in recent years; see e.g. $[1-7,9]$ and the references cited therein. However some results in this paper are new and the other ones in many cases complete the previous ones.

## 2. Some basic lemmas

The following lemmas will be useful in the proofs of the main results.

[^0]Lemma 1. In addition to the conditions (a) and (b) suppose that

$$
0<p(t) \leq 1 \quad \text { for } t \geq t_{0} .
$$

Let $x(t)$ be a continuous nonoscillatory solution of the functional inequality

$$
x(t)[x(t)-p(t) x(\sigma(t))]<0
$$

defined in a neighborhood of infinity.
(i) Suppose that $\sigma(t)<t$ for $t \geq t_{0}$. Then $x(t)$ is bounded. If, moreover,

$$
0<p(t) \leq \lambda^{*}<1, \quad t \geq t_{0}
$$

for some positive constant $\lambda^{*}$, then $\lim _{t \rightarrow \infty} x(t)=0$.
(ii) Suppose that $\sigma(t)>t$ for $t \geq t_{0}$. Then $x(t)$ is bounded away from zero, that is, there exists a positive constant $c$ such that $|x(t)| \geq c$ for all large $t$.

Lemma 2. In addition to (a) and (b) suppose that

$$
1 \leq p(t) \quad \text { for } t \geq t_{0}
$$

Let $x(t)$ be a continuous nonoscillatory solution of the functional inequality

$$
x(t)[x(t)-p(t) x(\sigma(t))]>0
$$

defined in a neighborhood of infinity.
(i) Suppose that $\sigma(t)>t$ for $t \geq t_{0}$. Then $x(t)$ is bounded. If, moreover,

$$
1<\lambda_{*} \leq p(t), \quad t \geq t_{0}
$$

for some positive constant $\lambda_{*}$, then $\lim _{t \rightarrow \infty} x(t)=0$.
(ii) Suppose that $\sigma(t)<t$ for $t \geq t_{0}$. Then $x(t)$ is bounded away from zero.

The above Lemmas and their proofs can be found in [6].
The next two Lemmas can be derived on the base of Theorem 2 in [8].
Lemma 3. Assume that

$$
\begin{equation*}
g \in C\left[\left[t_{0}, \infty\right),[0, \infty)\right], \quad \delta \in C\left[\left[t_{0}, \infty\right), R\right], \quad \lim _{t \rightarrow \infty} \delta(t)=\infty \tag{2}
\end{equation*}
$$

and

$$
\begin{aligned}
& \delta(t)<t \quad \text { for } t \geq t_{0}, \\
& \underset{t \rightarrow \infty}{\liminf } \int_{\delta(t)}^{t} g(s) d s>\frac{1}{e} .
\end{aligned}
$$

Then the functional inequality

$$
x^{\prime}(t)+g(t) x(\delta(t)) \leq 0, \quad t \geq t_{0}
$$

cannot have an eventually positive solution, and

$$
x^{\prime}(t)+g(t) x(\delta(t)) \geq 0, \quad t \geq t_{0}
$$

cannot have an eventually negative solution.
Lemma 4. Assume that (2) is satisfied and

$$
\begin{aligned}
& \delta(t)>t \quad \text { for } t \geq t_{0} \\
& \liminf _{t \rightarrow \infty}^{\delta(t)} \int_{t}^{\delta(s) d s>\frac{1}{e}}
\end{aligned}
$$

Then the functional inequality

$$
x^{\prime}(t)-g(t) x(\delta(t)) \geq 0, \quad t \geq t_{0},
$$

has no eventually positive solution, and

$$
x^{\prime}(t)-g(t) x(\delta(t)) \leq 0, \quad t \geq t_{0}
$$

has no eventually negative solution.

## 3. Oscillation of equation (1)

We shall study the oscillation of all solutions of equation (1).
Theorem 1. Suppose that

$$
0<p(t) \leq \lambda^{*}<1, \quad 0 \leq q(t), \quad \sigma(t)<t, \quad \tau(t)<t \quad \text { for } t \geq t_{0} \text { and }
$$ some $\lambda^{*} \in(0,1)$ and

$$
\begin{equation*}
\liminf _{t \rightarrow \infty} \int_{\tau(t)}^{t} q(s) d s>\frac{1}{e} . \tag{3}
\end{equation*}
$$

Then every solution of equation (1) is oscillatory.
Proof. Suppose that $x(t)$ is an eventually positive solution of equation (1). Then

$$
\frac{d}{d t}[x(t)-p(t) x(\sigma(t))] \leq 0
$$

for all large $t$. Thus for sufficiently large $t_{0}$ we have two cases:

1. $x(t)-p(t) x(\sigma(t))>0, \quad t \geq t_{0}$;
2. $x(t)-p(t) x(\sigma(t))<0, \quad t \geq t_{0}$.

Set

$$
u(t)=x(t)-p(t) x(\sigma(t)) .
$$

Case 1. One can find that

$$
q(t) u(\tau(t))=q(t) x(\tau(t))-p(\tau(t)) q(t) x(\sigma(\tau(t)))
$$

and according to (1) we obtain

$$
u^{\prime}(t)+q(t) u(\tau(t)) \leq 0, \quad t \geq t_{0} .
$$

From Lemma 3 it follows that $u(t) \leq 0$, which is a contradiction to $u(t)>0$.
Case 2. From Lemma 1 it follows that

$$
\lim _{t \rightarrow \infty} x(t)=0
$$

This implies that $\lim _{t \rightarrow \infty} u(t)=0$, which contradicts the fact that $u(t)<0$ and $u^{\prime}(t) \leq 0$ for $t \geq t_{0}$. The proof is complete.

In the next theorems $\sigma^{-1}(t)$ will denote the inverse function of $\sigma(t)$.
Theorem 2. Suppose that
$1 \leq p(t), \quad 0 \leq q(t), \quad \sigma(t)<t, \quad \sigma^{-1}(\tau(t))>t \quad$ for $t \geq t_{0} \quad$ and $\underset{t \rightarrow \infty}{\liminf } \int_{t}^{\sigma^{-1}(\tau(t))} \frac{q(s)}{p\left(\sigma^{-1}(\tau(s))\right)} d s>\frac{1}{e}$.

Then every solution of equation (1) is oscillatory.
Proof. Assume for the sake of contradiction that $x(t)$ is an eventually positive solution of (1). Then

$$
\frac{d}{d t}[x(t)-p(t) x(\sigma(t))] \leq 0
$$

for all large $t$. Thus for sufficiently large $t_{0}$ we have two cases:

$$
\begin{array}{lll}
\text { 1. } & x(t)-p(t) x(\sigma(t))>0, & t \geq t_{0} ; \\
\text { 2. } & x(t)-p(t) x(\sigma(t))<0, & t \geq t_{0} .
\end{array}
$$

Set

$$
u(t)=x(t)-p(t) x(\sigma(t))
$$

Case 1. Integrating (1) from $T$ to $t, T \geq t_{0}$, and then letting $t \rightarrow \infty$, we get

$$
\begin{equation*}
u(T) \geq \int_{T}^{\infty} q(t) x(\tau(t)) d t \tag{4}
\end{equation*}
$$

By Lemma 2, $x(t)$ is bounded away from zero for all large $t$. The condition ( $3^{\prime}$ ) implies that

$$
\int_{T}^{\infty} q(t) d t=\infty
$$

Otherwise if

$$
\int_{T}^{\infty} q(t) d t<\infty
$$

we can choose $t_{1} \geq T$ such large that

$$
\int_{t_{1}}^{\infty} q(t) d t<\frac{1}{e} .
$$

The above facts and (4) give a contradiction.
Case 2. Set $\gamma(t)=\sigma^{-1}(\tau(t))$. Then

$$
-\frac{q(t)}{p(\gamma(t))} u(\gamma(t))=-\frac{q(t)}{p(\gamma(t))} x(\gamma(t))+q(t) x(\tau(t))
$$

and with regard to (1) we have

$$
u^{\prime}(t)-\frac{q(t)}{p(\gamma(t))} u(\gamma(t)) \leq 0, \quad t \geq t_{0}
$$

which implies by Lemma 4 that $u(t) \geq 0$ and this contradicts the fact that $u(t)<0$. The proof is complete.

Theorem 3. Suppose that

$$
0<p(t), \quad 0 \leq q(t), \quad \sigma^{-1}(\tau(t))>t, \quad \tau(t)<t \quad \text { for } t \geq t_{0},
$$

and conditions (3), (3') hold.
Then every solution of equation (1) is oscillatory.
Proof. Assume for the sake of contradiction that $x(t)$ is an eventually positive solution of equation (1). Then

$$
\frac{d}{d t}[x(t)-p(t) x(\sigma(t))] \leq 0
$$

for all large $t$. For sufficiently large $t_{0}$ we have two cases:

$$
\begin{array}{lll}
\text { 1. } & x(t)-p(t) x(\sigma(t))>0, & t \geq t_{0} ; \\
\text { 2. } & x(t)-p(t) x(\sigma(t))<0, & t \geq t_{0} .
\end{array}
$$

Now we can treat the case 1 in the same way as in the proof of Theorem 1 and the case 2 in the same way as in the proof of Theorem 2. The proof is complete.

To the above theorems we can establish the next three theorems. Their proofs, with using Lemmas $1-4$, are similar to the previous ones and will be omitted.

Theorem 4. Suppose that

$$
\begin{gather*}
0<p(t) \leq 1, \quad q(t) \leq 0, \quad \sigma(t)>t, \quad \tau(t)>t \quad \text { for } t \geq t_{0} \text { and } \\
\liminf _{t \rightarrow \infty}^{\lim } \int_{t}^{\tau(t)}|q(s)| d s>\frac{1}{e} . \tag{5}
\end{gather*}
$$

Then every solution of equation (1) is oscillatory.
Theorem 5. Suppose that

$$
1<\lambda_{*} \leq p(t), \quad q(t) \leq 0, \quad \sigma(t)>t, \quad \sigma^{-1}(\tau(t))<t \quad \text { for } t \geq t_{0}
$$

and some $\lambda_{*} \in(1, \infty)$,

$$
\begin{equation*}
\liminf _{t \rightarrow \infty} \int_{\sigma^{-1}(\tau(t))}^{t} \frac{|q(s)|}{p\left(\sigma^{-1}(\tau(t))\right)} d s>\frac{1}{e} \tag{6}
\end{equation*}
$$

Then every solution of equation (1) is oscillatory.
Theorem 6. Suppose that

$$
0<p(t), \quad q(t) \leq 0, \quad \sigma^{-1}(\tau(t))<t, \quad \tau(t)>t \quad \text { for } t \geq t_{0}
$$

and conditions (5), (6) hold.
Then every solution of equation (1) is oscillatory.

## 4. Asymptotic behaviour

In this section we shall study the asymptotic behaviour of the nonoscillatory solutions of the equation (1).

Theorem 7. Suppose that

$$
1<\lambda_{*} \leq p(t), \quad q(t) \leq 0, \quad \sigma(t)>t \quad \text { for } t \geq t_{0}
$$

and some $\lambda_{*} \in(1, \infty)$,

$$
\int_{t_{0}}^{\infty} \frac{|q(t)|}{p\left(\sigma^{-1}(\tau(t))\right)} d t=\infty
$$

Then every nonoscillatory solution of equation (1) tends to zero as $t \rightarrow \infty$.

Proof. We may assume that $x(t)$ is an eventually positive solution of (1). Then

$$
\frac{d}{d t}[x(t)-p(t) x(\sigma(t))] \geq 0
$$

for all large $t$. For sufficiently large $t_{0}$ we have two cases:

$$
\begin{array}{lll}
\text { 1. } & x(t)-p(t) x(\sigma(t))>0, & t \geq t_{0} ; \\
\text { 2. } & x(t)-p(t) x(\sigma(t))<0, & t \geq t_{0} .
\end{array}
$$

Set

$$
u(t)=x(t)-p(t) x(\sigma(t))
$$

Case 1. From Lemma 2 it follows that $\lim _{t \rightarrow \infty} x(t)=0$. This implies, with regard to the inequality $x(t)>p(t) x(\sigma(t))$, that $\lim _{t \rightarrow \infty} u(t)=0$, which is impossible since $u(t)>0$ and $u^{\prime}(t) \geq 0$ for $t \geq t_{0}$.

Case 2. We have $u(t) \rightarrow L \leq 0$ as $t \rightarrow \infty$. Suppose that $L<0$. We get

$$
L \geq u(t)>-p(t) x(\sigma(t))
$$

or

$$
L>-p(t) x(\sigma(t))
$$

Then we have

$$
L>-p\left(\sigma^{-1}(\tau(t))\right) x(\tau(t))
$$

and

$$
x(\tau(t))>-\frac{L}{p\left(\sigma^{-1}(\tau(t))\right)}
$$

for $t \geq t_{1} \geq t_{0}$, where $t_{1}$ is sufficiently large.
From (1) it follows that

$$
-u(T)>-\int_{T}^{\infty} q(t) x(\tau(t)) d t>L \int_{T}^{\infty} \frac{q(t)}{p\left(\sigma^{-1}(\tau(t))\right)} d t
$$

$T \geq t_{1}$, which is impossible. Thus $u(t) \rightarrow 0$ as $t \rightarrow \infty$.
Now we show that $x(t)$ is bounded. Otherwise there exists a sequence $t_{1}, t_{2}, \ldots$ with the following properties:
(a) $t_{m} \rightarrow \infty$ as $m \rightarrow \infty$;
(b) $\quad x\left(t_{m}\right) \rightarrow \infty$ as $m \rightarrow \infty$;
(c) $\quad x\left(\sigma\left(t_{m}\right)\right)=\max \left\{x(\sigma(s)): t_{0} \leq \sigma(s) \leq \sigma\left(t_{m}\right)\right\}$.

But for sufficiently large $t_{m}$ we have

$$
-1<u\left(t_{m}\right) \leq x\left(t_{m}\right)-\lambda_{*} x\left(\sigma\left(t_{m}\right)\right) \leq x\left(t_{m}\right)-\lambda_{*} x\left(t_{m}\right),
$$

from which it follows that

$$
x\left(t_{m}\right)<\frac{1}{\lambda_{*}-1}
$$

which contradicts the above condition (b). Thus $x(t)$ is bounded.
Now suppose it is not true that $\lim _{t \rightarrow \infty} x(t)=0$. Set $\lim \sup _{t \rightarrow \infty} x(t)=$ $c>0$. This ensures the existence of an increasing sequence $\left\{t_{n}\right\}$ with $t_{n} \rightarrow \infty$ and $x\left(t_{n}\right) \rightarrow c$ as $n \rightarrow \infty$. Then we have

$$
u\left(t_{n}\right)=x\left(t_{n}\right)-p\left(t_{n}\right) x\left(\sigma\left(t_{n}\right)\right) \leq x\left(t_{n}\right)-\lambda_{*} x\left(\sigma\left(t_{n}\right)\right) .
$$

Since $c>0$ and $\lambda_{*} \in(1, \infty)$, there exists a positive number $\varepsilon$ such that $\lambda_{*}(c-\varepsilon)>c+\varepsilon$ and with regard to the inequalities $x\left(t_{n}\right)<c+\varepsilon, x\left(\sigma\left(t_{n}\right)\right)>$ $c-\varepsilon$ for all sufficiently large $n$, we have

$$
u\left(t_{n}\right)<c+\varepsilon-\lambda_{*}(c-\varepsilon)
$$

for all such $n$. Since $u\left(t_{n}\right) \rightarrow 0$ as $n \rightarrow \infty$, we obtain a contradiction by letting $n \rightarrow \infty$ in the last inequality. We conclude that $x(t) \rightarrow 0$ as $t \rightarrow \infty$. The proof is complete.

Theorem 8. Suppose that

$$
0<p(t) \leq \lambda^{*}<1, \quad 0 \leq q(t), \quad \sigma(t)<t \quad \text { for } t \geq t_{0}
$$

and some $\lambda^{*} \in(0,1)$,

$$
\int_{t_{0}}^{\infty} q(t) d t=\infty .
$$

Then every nonoscillatory solution of equation (1) tends to zero as $t \rightarrow \infty$.
The proof of Theorem 8 is similar to the one of Theorem 7 and will be omitted.

Theorem 9. Suppose that
$1<\lambda_{*} \leq p(t), \quad 0 \leq q(t), \quad \sigma(t)>t, \quad \sigma^{-1}(\tau(t))>t \quad$ for $t \geq t_{0}$ and some $\lambda_{*} \in(1, \infty)$, and condition ( $3^{\prime}$ ) holds.

Then every nonoscillatory solution of equation (1) tends to zero as $t \rightarrow \infty$.
Proof. Without lack of generality we may suppose that $x(t)$ is an eventually positive solution of equation (1). Then

$$
\frac{d}{d t}[x(t)-p(t) x(\sigma(t))]<0
$$

for all large $t$. For sufficiently large $t_{0}$ we have two cases:

$$
\begin{array}{lll}
\text { 1. } & x(t)-p(t) x(\sigma(t))>0, & t \geq t_{0} ; \\
\text { 2. } & x(t)-p(t) x(\sigma(t))<0, & t \geq t_{0} .
\end{array}
$$

Case 1. From Lemma 2 it follows that

$$
\lim _{t \rightarrow \infty} x(t)=0 .
$$

Case 2. Set

$$
u(t)=x(t)-p(t) x(\sigma(t)) .
$$

Then we have

$$
u^{\prime}(t)-\frac{q(t)}{p\left(\sigma^{-1}(\tau(t))\right)} u\left(\sigma^{-1}(\tau(t))\right) \leq 0, \quad t \geq t_{0} .
$$

From Lemma 4 it follows that $u(t) \geq 0$, which is a contradiction.
Theorem 10. Suppose that
$0<p(t) \leq \lambda^{*}<1, \quad q(t) \leq 0, \quad \sigma(t)<t, \quad \tau(t)>t \quad$ for $t \geq t_{0}$
and some $\lambda^{*} \in(0,1)$, and condition (5) holds.
Then every nonoscillatory solution of equation (1) tends to zero as $t \rightarrow \infty$.
The proof is similar to the one of Theorem 9 with using Lemmas 4 and 1 .

## References

[1] D. D. Bainov and D. P. Mishev, Oscillation Theory for Neutral Differential Equations with Delay, Adam Hilger, Briston, Philadelphia and New York, 1991.
[2] J R. .Graef, M. K. Grammatikopoulos and P. W. Spikes, Asymptotic and oscillatory behavior of solutions of first order nonlinear neutral delay differential equations, J. Math. Anal. Appl., 155 (1991), 562-571.
[3] J. R. Graef, M. K. Grammatikopoulos and P. W. Spikes, Asymptotic behavior of nonoscillatory solutions of neutral delay differential equations of arbitrary order, manuscript.
[4] M. K. Grammatikopoulos, E. A. Grove and G. Ladas, Oscillation and asymptotic behavior of neutral differential equations with deviating arguments, Applicable Anal., 22 (1986), 1-19.
[5] I. Györi and G. Ladas, Oscillation Theory of Delay Differential Equations, Clarendon Press-Oxford, 1991
[6] J. Jaroš and T. Kusano, On a class of first order nonlinear functional differential equations of neutral type, Czechoslovak Math. J., 40 (1990), 475-490.
[7] J. Jaroš and T. Kusano, On oscillation of linear neutral differential equations of higher order, Hiroshima Math. J., 20 (1990), 407-419.
[8] R. G. Koplatadze and T. A. Čanturia, On oscillatory and monotonic solutions of first order differential equations with retarded arguments, Differencial'nye Uravnenija, 8 (1982), 1463-1465. (Russian)
[9] G. Ladas and C. Qian, Oscillation in differential equations with positive and negative coefficients, Canad. Math. Bull., 33 (1990), 442-451.

## Vysoká škola dopravy a sopjov <br> 01026 Žilina <br> Slovak Republic


[^0]:    Research was supported by Grant Agency for Science 1/990163/92.

